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74.  Choose the word opposite in meaning to the given word
drought
& food [B]  dryness
iC}  brought D) river.
75. Choose the word opposite in meaning to the given word :
ability
(A feasibility B} unability
[C)  disability D)  inability.
76. Choose the plural of the given word :
knife
&) knife (B] knifes IC}  knives (D} knifey.
77. Choose the correct spelling :
&) rcleve Bl recieve C) riceive (D] receive.
78. Choose the correet spelling :
{A) posess (B) possess
[C] posses (D) posseis,
79. Choose the Incorrect spelling :
(&4 loner (Bl mathemetics
C) grammar (D). arithmetic,
80. Which is not a synonym of the given word 7
quarrel
(A} argument (B) bickering
IC)  discord D)  quarry.
81. Choose the correct word order :
&) Music Jack loves (B] Music loves Jack
(C]  Jack loves music (D) Jack music loves.
82, Choose the correct pﬁnaun L
It was my brother who went with ...........
@ her B she € he (D) his.
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£3. What are words that spell the same backwards called ?
(&) Anagram (B} Abbreviation
() Crossword ) Palindrome.
84. Choose the plural of the given word :
box
(A box (B] boxer [C) boxs (D) boxes.

85. Choose the singular of the given word

leaues
&) leawve iB) leaf
) levee ()  none of these.

86. Choose the option to which you cannot add - er at its ehd and form a new word.
(&)  soon B quick
(C) tume (O} wick.

&7. Choose the best option to complete the given sentence :

There Aren't ..o people here.
i) much (Bl many
] alot (D} some.

88. Choose the best option to complete the given sentence :

You Should .....cooeerioeeenn.. your homewerk.
A} make B] do
() woTk m  glve.

89, Choose the correct word order :
(4 1lent my pencil him B) My pencil I lent him
{C) My pencil him'l lent (D) 1 lent him my pencil.

90. Choose the option to which you can add - ly at the end to form a new word.
i)  soon (Bl late

(C] mow [ fast.
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Q1.

92,

93.

94,

SECTION - III. f YT - I
MATHEMATICS / wifora
There are 30 questions in all in this Section. All questions are compulsory.

I HHA 3097 B | Wit v sfEd ¥

A rectangular tank has length = 6 m, width = 2.4 m and depth = 1 m. Find the volume
of water if it is half-filled.

iA) 6m? B 64 m*

iy 68m? D] 72 m3.

T IEAHR T E FAE = 67, H2n = 249 9w ww = 169 F 1 sy v gan I
1 WEEA B

W emr (Bl -4

iCy 6-8#H* (D) 7-2H 2

The distance between two parallel lines

[A] decreases (Bl increases

(C) remains same i} may increase or decrease.
21 Tl st % s w1 gl

W wedt (B) =zl ¥

(C) = TEdt # (D] =2 = 9% OFdl & |
An angle measuring 270° is an example of

&) acule angle (B} obtuse angle

(C) right angle I} - reilex angle,
270° HIY W HW TH I F

) = = B sfiss o=

([C) woHm (D)  widaEdt o 1
What is the LCM of 108 and 144 7

Al 3888 By 432

iC) 648 D 216

108 ¥ 144 %1 He He T TN 7

(A) 3588 (B) 432

[C) 648 (D) 216.
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5.

96.

a7.

98.

99,

A triangle has sides that measure 5 cm, 12 cm and 13 cm. ldentify the type of
triangle.

(A Equilateral triangle (B) Isosceles triangle

{C) . Obtuse angled triangle (D) Right angled triangle.
e frue 1 yenadi = A 5 Rel, 12 & en 13 o ¥ 1 FE W wEe TRl |
W TEE e (B) wmigEE fay=

() s wo By ) e A= |

Find the sum of the largest and least four-digit numbers.

(A 9899 (BY 10000

iC) 10999 (D) 11999.

4 3 aeht gET =g dens w1 A

) 9999 (B] 10000

[y 10999 () 11999,

The temperature first rises by 18°C and then falls by 23°C. If the initial temperature is
27°C, what is final temperature ?

Ny 22°C (B 23°C

il 24°C (D) 25°C

o& § arrwm 18°C Fea € fw onec wzm ¥ 1 afs wRfis e 27°C 7, # aifom aToEE F=N
gm 7

W 22°C B 23°C
Icy 247C Dy 25°C.
Evﬂuate:'

(—2)x(-3)x(-4)x(-5)=x([-6]
) - 360 (B] 360
c - 720 D) 720.
O fafen -

l—Elx[—Elxl-fl}Kl—ﬁlxl—ﬁl
N - 360 B 360
[cy - 720 D) T20.
Subtract 3 kg lTBg[mmEkEESD £
n SHkgl72g Bl 4kg272g
C] 4kgl72g (D) 4 kg 472 ¢
gfEm 3507 & 3fEm 178 7MW w=AET |
) 5fFm 1727 ) afwm 27274
() afwm 1727H D) 4fFm 4727H |
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Find the circumference of a circle whose diameter is 3-5 cm.
() 11-3 cm Bl 11 em
) 101 cm (D) 96 cm.
3.5 At =W T g9 F oafify #
W 11.38@ (B) . 11 %
() 10-1 %9 D) 968 |
How many wheels are there in 9 tricycles 7
" 3 B 27
(o D 18
9 grETEE o T gfgy € 7
A 3 @ 27
iy 8 o 18,
From a rope of 103 m long, 4 § m is cut off. Find the length of the remaining rope.
W 53m B 5im
() 5im D) 5im.
10 LW wfelt ww Tt @ 4 St e T | S vt @ v @
W 52 B) 5wl
[c) 53 D) 51
Evaluate : 37.188 + 3.6.
A 98 (B) 966
[C) 10-33 D) 11-6.
A FE FHIFAT ;. 37188 + 3.6,
(4 98 (B] 9-66
© 1033 D) 11-6.
How many four digit numbers are there between 999 and 3000 ?
(A} 2001 (B} 2000
01 1999 D} 1998,
999 A 3000 % 4 st Tt T dwmd ¥ 7
(&) 2001 B 2000
{C) 1999 (D) 1998,

23 |



UPTET(Teacher Eligibility Test) Question Paper I- 2011 JAGRAN

£ Josh
105. Which of the following numbers divides 9361 without any rematnder ?
) 19 B 17
) 13 o) 11.
fat 1§ e % T 4 B #R-3h Sen 9361 M faviem ww # 2
@ 19 ® 17
C) 13 o 11.
106. Carry out the operation as writlen, (9+7)+4x8=7
187 16
W Bl 39
© 20 o 3.
W (9+7)+4x5="7
187 16
W = B 30
20 D) “E.
107. Arrangement of the fractions in ascending order is
3 5 2 5 5 2 5 3
W g6 39 ® 5 398
3 56 2 5 3 2 55
© 5 9338 ® 5 3-9'6
it 1 st w0 T e
35 2 5 5 2 5 3
W g 539 B &3 88
35 2 5 3 2 5 5
C 5938 D 8 3 96
108. Martin has some marbles. He lost 14 and still had 6 left. How many did he have to
start with ?
@ 8 ® 20
c) B84 (D) None of these.

A & T T wew ¥ o A W 14 = e fE ol 6 ) ame # TeE T fem
w4 ?

v 8 B 20
() 84 D) T A F

109, Simplify : %+% :

=

(=]
wids - W

(E)
o)

A
()

of5 @~
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110.

111.

112,

113.

114,

1.7 (7
mauﬂﬁq.3+g+[lu313}

7
(] g B 1 %
a L7
9 o 1.
26x091="7
) 2.366 Bl 0.23686
[C) 23.866 (D) 2366
How many halves in 11 7
A1 B 2
3 (I3}  None of these.
1L A ot onit # 2
[PV | B 2
icy 3 (D) 9 | %1 7wt
A4 -6 +43x2-8T =7
A 37 iB)] 38
i) 73 (D) &3,
Whalt is the perimeter of a square if each side Is B-2 centimetres long 7
(Al 64-16 cm (Bl 6724 cm
iIC] 32.8 em | & 162 em,
B8-2 Wl St Wl o[ At = = qfiadta w0
(&) 64.16 HHl B) 6724 44
(C  a2.8 94 D)  16-2 3

A tin contains 20 litres of
petrol. Due to leakage, 3 litres of petrol i
per cent Is present in the t4n 7 petrel 1s lost. What

2
A 6629% B 68%

C} B82% (O} B5%,

oF o9 & = F 20 e # 1 fam '
e 20 Tm # #ma%ﬂaﬁﬁaaﬁmﬁﬁlﬁqﬁﬁhﬂ’m
W B6%% B - 68%

) 829% (D) B5%.
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116.

117,

118.

119.

120.

(Ad Rs. 40
[l Rs. 480

FAfEAT T qza Ee 20 ¥ 1 6

(A) Fe 40
{C}) Te 480
Evaluate ; V64 — 2 ga

. 3 pencils cost Rs. 20. How much will 6 dozen cost ?

(B) Rs. 48

(D) Rs. 400.
oA w1 Ed ¥ e ?

(B) %o 48

(D) Fe 400.

A 4 (B] B
(c) 16 m 32
J6d - Heamam ¥
(Ad 4 (B 8
C) 16 m 32
Wwhat is the cube root of — 0-008 ?
-2 B -02
)y - 002 > - 0002,
- 0-008 = =S ¥ 7
w -2 B -02
<) — 002 o - 0-002.
Estimate to the nearest hundred 49§ plus 318,
A 8Bla (B3) 800
(c) 178 (D) 700.
496 FrT 318 %1 FrFean dw= d W #
w814 By 800
(C) 178 (D}  70O0.
1
4-5 ="
w3 | 4
.5

i 32 o) =

3
2i+5=7 .
(A) E B 5

1 o 3.
© 3
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121,

122,

123,

124,

125,

126.

SECTION = IV / W77 - [V
ENVIRONMENTAL STUDIES / Tafa7or stoqge
There are 30 questions in all in this Section. All questions are compulsory,

T W H ¥ 30w £ | At o9 sifmd

The example of an ecosystem is

&) alr (B] pond C)  water D) soil,
TRfeufol @5 1 waew 3

W ag (B) e ) == ) =
Which is not a biotic factor 7

(A Plants (B)  Animals (C) Micro-organisms ()} Rocks.
®H A R

W e B g [C) gty D) W& |
Most plants are present in

(A lithosphere (B) hydrosphere

[C)  atmosphere ()  photosphere,

AHER Fg-dh wm o #

) wETEE g B wEHEa o

(C) vz & D) wemrEEa §

Animals that feed on other dead animals are called

A parasites (B] decomposers

€] scavengers (D) omnivores.

T S WAt Frafe 3 et Wit 51w o

W SRz B) S

[C}  whora (D)  siefER |

CNG is the abbreviation of

(A  Clean Natural Gas (B)  Compressed Natural Gas
[C)  Carbonised Natural Gas (D} Carburetted Natyral Gas.
CNG Hfire wy #

A w6 A e (B) worE da

) FEMEE Ygm e D) e Fgw mw |

Which of the R:-llnﬁmﬁ International organizations looks afier environment protectio
over the world 7

@ wwr (Bl WHO [C)  PETA D) UN.
ﬁmﬁﬁﬁ-ﬁm@um@mﬁmmmaﬂ%ﬁmm??

A WWF (Bl WHO iC) PETA D) UN.
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IlET. Too much use of insecticides will cause
(A air pollution (B) noise pollution
{C) water pollution (D) all of these,
Hrzter % st TR @ g
PV R A (B W
(C) TE wE (D) o Al
128. A salt which absorbs water is callad
(&)  hygroscopic salt [B) anhydrous salt
{C)  hydrophilic salt () hydrophobic salt.
T W W S e, wee
W T (B) T
[C) IS e (D} ETEErIEE TE |

129. The term used for the conservation of ecosystems and natural habitats and the
maintenance and recovery of viable populations of species in their natural

surroundings is
() Core conservation [B) In sifu conservation
(C} Ex situ conservation {0} Peripheral conservation.

mmﬁmmﬁmmmmﬁwﬁmﬁ,mﬁwﬂmm
T ) TEvEE v et ¥ f s W
W W T (B) T HIE
(C) SR ERH (o) el Hm oo

130. Sea turtles are called living fossils for they have been on the earth in their present
form for over 150 million years. Of the five species of sea turtles found In the waters
of the Indian subcontinent, which is the most populous species ?
{A] Keneps Ridley (B) Loggerhead
[C) Olive Ridley (D) Flatback.
Hﬂhmﬁfﬂiﬂﬂﬂﬁ“ﬁmwmi, w3 150 fofem =l @ o afuw @@ @ 9 §
sufeym & mmﬁﬂﬂwrﬁﬂiaﬁwﬁﬂ‘qﬁaﬁﬁﬁﬁawﬁﬁﬁq@mﬁaﬁﬁw
wem fFEa ¥ 7 '
W Fm fies (B TMES
() e fred D) WEEF |
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132,

133,

134,

135.

136.

Which of the lollowing leads to plobal warming ¥

(A Water pollution (B)  Soil pollution

(€ Air pollution (D) Noise pollution.

A A =5 fam smm m e & 2

T R (B) =1 wgum

([C) =g v (D) & e )

Oceans cover most of the earth's surface. which is approximately

w3 ® . © 1 o 2.
WETHITL I %8 3 sfuerin e s R & S & wem

w3 ® 3 © ; o 3.
Stalactites and stalagmites consist of deposits of

W ziliea (B) magnesium carbonate

(€]  calclum carbonate (D) sodium carbonate,
AR T @i A fri g ¢

) fafew = B) #efirm sty =

(C) Ffraw wrEle = D) wifegm wEle 1

Which of the following is an example of air pollution 7

(4}  Smoke and fog (Bl Exhaust gas from cars

[©)  Gases from burning wood or charcoal (D)  All of these.

= 4§ 2 ag vgum = v TEmw & 7

W gl od FEE B) = & fawert Tt fn
(C) et et 91 e © it A (D) T & Wit

The law o prevent pollution in India and many other countries prevenis the use of
(A)  paper bags (B plastic bags

(C)  nylon bags (D) leather bags.

WA e g A9 wewm w1 G ¥ A g o e \oe. T WA v
) T A B) s & 45

IC) e & dw D) =98 % &9

Which of the following causes global warming ? :

(A} Gases from cars (B) Gases [rom trees

(€} Hot air from oven (D} Cooking gas.

R smmmE i sh st 7

W = @ fre A B) Hz-dnii B forareit #

(C)  wifgsl % Frelt wf g D) g
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137. What are metal bearing rocks called ?

(&) Bitumen [ &1] Bauxite C] Metalloids D] Ores.

uTEe wer fRd wE owm ¥ 7

g (B) T C) HerETEE (D) e |
138. Trees reduce pollution because Lthey absorb

4  sulphur dioxide (Bl carbon dioxide

(C) - carbon monoxide (D)  nitrogen,

Y- wEm w geR ¥ wife J sy st §

() EEE SRR (B) FTeE SREEES

(C) A W (D) AEgre |
139, Earthquakes are measured in

LA Beaufprt scale B decibel

[C) ~ newton D) Richler scale,

VS "I W #

() e T A () FeiteE A

) A D) T dmE A
140, RHise in water level in oceans is due to

(Al melting of ice in polar region (B] excess rainfall

(C)  acid rain ([ none of these.

aerErRl # 9w e giE w1 e

1 yEE e H aE e B) watas =l

[c) = =E D) 3§ i W
141. The percentage of oxygen present in alr is approximately

(A 44% B 23% ) 40% D) 2I%.

Tan ¥ Tufium anedter & wimma &

) 44% B)  23% (c) 0% D 21%.
142. Which is the abzolute lemperature scale 7

&)  Celstus (B) Fahrenheil (C)  Helvin (2] Al of these,

WH A9 THm SE-m g 7 _

(W) HEmm - (B)  ERERREE () e D) = A A
143. Photosynthesis is carried out by

i)  all plants (B] all animals and plants

i) all green plants D] wviruses.

wERTIE e warfe B ¥

() |t O g B) wsft g v i gm

(C) |t gt drdi g (D} =rETEl BT 4
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144, Nolse or noise pollution Is measured in

(&) phon (B _d:r.:i )  decibel ()  decimal.
wEH 9 &y A e _
) FAH B) = [C) Eedem d (D) SR
145. Which of the following is harmful for the environment ?
(A} Paper B) Clothes [C) Metal I Plastic,
= # & =1 vt & fan wifeme & 2
W T (B) 7= (C)  wg (D) i |
146. The most harmful sulphur containing gas in the atmosphere is
W s B) H,S C1 SF, D) SO,
AR H At st wewt fafa g
A s (B H,S [C) SF, D s0,.
147 Air pollution 1s reduced by
(&) trees B) fishes IC] animals (D) sunlight.
9 WY 1w W e §
W e R (B] wefeE gm (C) W g (D) w4 w=m Em |
148. World Environment Day is celebrated on
(&)  5th November Bl 5thJ anuary
({C) 5th June (D)  5th September.
Tawa wafaro femm @ o
) 5 TEE B) 5 At =
[C) 5 (D) 5 T =5t
149. Which layer protects earth from harmful rays of the sun ?
(A lonosphere (B]  Ozone layer
[C) Troposphere (D) Magnetosphere.
T & wire ol # gl = wh-m o g wmm 2
(A A HEw (B) A W
(C) & Haw (D) o= HEa |
150. Flora and fauna of a place indicate
(&) plants and animals (B] fishes and plants
(C) animals and fishes (D)  birds and plants.
ot =e & w0 v = g T
B -9 v g = B) wof ud de-d =

(C) < vE wefaf = (D) ofel wd d=-diei w5
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Write your Question Booklet No., Rell No,, DMR Angwer Sheet Mo., Question Beokler Code, Name and put your Signature in the
spice provided in ihe Question Booklel ag well as in the OMR Answer Shest.
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With ench question you will find 4 possible answers marked by the bketiers A, B, C & D. Read each guestion carsfislly and find
uut which angwer, acoording to ¥ou is correct. Indicaie your answer by darkening the sppropriate cincle compleiely in the MR
Anzwer Sheel corresponding 10 the guestion. For marking answers use black ballpoint pen anly.
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CMR Answer Sheet i designed for eomputer svaluation, If ¥ou da nod follow Lhe inatructions given above and shewn in the
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Mo candedate should leave the Examination Hall before the final bell, After complefion of the examination the candidete shoukd
hand ower the whale set of OMRE Answer Sheer aleng with the Question Bocklet to the Invigitator, The Invigllater will hand
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